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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
c\1 

December, 2016 
C 

ELECTIVE COURSE : ECONOMICS 

EEC-012 : INDIAN ECONOMIC DEVELOPMENT 
SINCE INDEPENDENCE 

Time : 3  hours 	 Maximum Marks : 100 

Note : Attempt questions from all the sections as per 
instructions given under each section. 

SECTION - A 

Answer any two of the following questions. 2x20=40 

1. Do you think that the rapidly increasing 
population is an impediment in the economic 
development of our country ? Explain 

2. What is the importance of physical and social 
infrastructures in economic development ? 
Explain in the Indian context. 

3. How is the Industrial Policy, 1991 different from 
the pre-reforms policy ? Also make a critical 
evaluation of the policy of 1991. 

4. Explain the causes of low productivity in Indian 
agriculture. What measures can be suggested to 
increase agricultural productivity in India ? 
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SECTION - B 

Answer any four questions from the following : 
4x12=48 

5. Make a case for liberalisation of trade and 
economic policies. 

6. The real constraints in the expansion of India's 
exports are internal not external. Discuss. 

7. (a) In what respects do you think Land reforms 
is important to Indian agriculture ? 

(b) Outline the four trends which drive the 
process of globalisation 

8. What do you understand by social indicators of 
development ? Outline the constituents of any 
two social indicators. 

9. What are the methods (or techniques) by which 
privatisation can be implemented ? 

10. Explain the major determinants of economic 
development. 

SECTION - C 

11. Explain any two of the following : 
(a) Managing Agency system 
(b) Flexible Exchange Rate Regime 
(c) Tools of fiscal policy 
(d) Problems of Urbanisation 

2x6=12 

    

EEC-012 	 2 



(t t..-012 

t4ll Ch Wiral CH St) 14 

'WA* trftaTr 

Rtil4W, 2016 

Aftw 	: 31t*Ti4r 

11.7:11-012 : ttic1:111 '51TNI * Wrq %TRW *T alTrft 

qchlti 

fig : 3 
	

3Trw-d77 aiw : 100 

7:7 It 	f7- 7Y 37747 779ft WI 	3r1( 

714 911rr 	6.61** Aqi). * 31-It tr.-4R : 	2x20=40 

1. 31TErk fart 	7rfff cf 	4(Sti I Wi 	tvr 
airr2k1-4-*-r-q 	rtTw t ? -ftaTur gli.R 

2. iirdW ii flI 1-11 Act) tk-aliaff Tr "1 WF1 3fiWzIT # 7Err 
4-17a 	t? im-a17 TiT4-1 	c411(.9e1 I a 1 

3. 31WITW -Ricl 1991, j'eTR-TO At 14 `anti 	 fiTR 

t? 1991 	 9 	1i ictri --1.f77 I 

4. I1T(t7 cprq f'9 	* chRul 47T t? 137Z 

T11771 TR dctitigli i clqA FriqzfT d'Alei 1777T 

*14) 	 t? 

EEC-012 
	

3 	 P.T.O. 



WIT - Tgf 

.P:f %TT 	fen-,;1' wit R-1.1t dzIt qr,,R : 	4x12=48 

5. «aI4It 1  aTrr* tfat t 3ql&zt)kul 	1W cici) 

q'ir\31 1  

6. (1177 tf9-zrit 1-izMIa t 	 ft.', 

.414-1-11 cnklr Lisdi t r ft -  AT-0-  cbralwii tr I 1-ai 

.-1-1--A7 

7. (a) Tt-dl-zi 34 	1Tt 	 3trcrt fawn ilfri 

TITT I 	i 33211 14 31-1-4TTW t? 

(b) 37 	-59"W 	TcrtZ 	 clichkur 

Tri-wzrr ttal -  t I 

8. fatrtit -iiiitiztch To -0 tr 31-rcr err 

t 	To-4 t ,Era--A 	citur -5R7 

9. err fq-rwri (zir dq.)-114)) f f7at 	I j r-1 ,41.zmul 

cnqi 	t? 

10. 3tflit farm .  t Triaig f9ITit-4 	ceiRsql 

WTrr - TT 

11. P-14-irriii_gi 1414 f*--47 	04fitsil"*-1-1-4R I 	2x6=12 

(a) 74-417 714- -517Tt 

(b) 	 rcir-mq 7 Trout 

(c) 	E d4it4 

(d) TITRzITI 

EEC-012 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

